## Mathematic Slovaca

## Ioannis K. Argyros

On an application of a Newton-like method to the approximation of implicit functions

Mathematica Slovaca, Vol. 42 (1992), No. 3, 339--347

Persistent URL: http://dml.cz/dmlcz/132917

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1992

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# ON AN APPLICATION <br> OF A NEWTON-LIKE METHOD TO THE APPROXIMATION OF IMPLICIT FUNCTIONS 

IOANNIS K. ARGYROS


#### Abstract

We use a Newton-like method to approximate implicit functions in Banach spaces. The nonlinear equations involved contain a nondifferentiable term. Our hypotheses are more general than Chen-Yamamoto's [3], in this case.


## I. Introduction

Let $E, \Lambda$ be Banach spaces and denote by $U\left(x^{0}, R\right)$ the closed ball with center $x^{0} \in E$ and of radius $R$ in $E$. We will use the same symbol for the norm $\|\|$ in both spaces. Suppose that the nonlinear operators $F(x, \lambda), G(x, \lambda)$ and the linear operator $A(x, \lambda)(\cdot)$ with values in $E$ defined for $x \in U\left(x^{0}, R\right)$ and $\lambda \in U\left(\lambda_{0}, S\right)$ are such that $F$ is Fréchet differentiable there, $A\left(x^{0}, \lambda_{0}\right)^{-1}$ exists and

$$
\begin{align*}
& \left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left(A(x, \lambda)-A\left(x^{0}, \lambda\right)\right)\right\| \leq v_{s}\left(\left\|x-x^{0}\right\|\right)+b  \tag{1}\\
& \left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left(A\left(x^{0}, \lambda\right)-A\left(x^{0}, \lambda_{0}\right)\right)\right\| \leq k_{1}(s)\left\|\lambda-\lambda_{0}\right\|  \tag{2}\\
& \left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left[F^{\prime}(x+t(y-x), \lambda)-A(x, \lambda)\right]\right\| \\
& \quad \leq w_{s}\left(\left\|x-x^{0}\right\|+t\|y-x\|\right)-v_{s}\left(\left\|x-x^{0}\right\|\right)+c \tag{3}
\end{align*}
$$

for all $t \in[0,1]$ and

$$
\begin{equation*}
\left\|A\left(x^{0}, \lambda_{0}\right)^{-1}(G(x, \lambda)-G(y, \lambda))\right\| \leq e_{s}(r)\|x-y\| \tag{4}
\end{equation*}
$$

for all $x, y \in U\left(x^{0}, r\right) \subset U\left(x^{0}, R\right)$ and $\lambda \in U\left(\lambda_{0}, s\right) \subset U\left(\lambda_{0}, S\right)$, where $w_{s}(r+t)-v_{s}(r), t \geq 0, k_{1}(s)$ and $e_{s}(r)$ are nondecreasing non-negative

[^0]functions with $w_{0}(0)=v_{0}(0)=e_{0}(0)=k_{1}(0)=0, v_{s}(r)$ is differentiable, $v_{s}^{\prime}(r)>0$ at every point of $[0, R]$, and the constants $b, c$ satisfy $b \geq 0, c \geq 0$ and $b+c<1$. We need to define the functions
\[

$$
\begin{gathered}
a_{s}=k(s)\left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left(F\left(x^{0}, \lambda_{0}\right)+G\left(x^{0}, \lambda_{0}\right)\right)\right\|, \quad\left(s=0 \quad \text { if } \quad \lambda=\lambda_{0}\right) \\
k_{2}(s)=\int_{0}^{s} k_{1}(t) \mathrm{d} t, \quad k(s)=\left(1-k_{2}(s)\right)^{-1} \quad \text { provided that } \quad k_{2}(S)<1 \\
\varphi_{s}(r)=a_{s}-r+k(s) \int_{0}^{r} w_{s}(t) \mathrm{d} t \\
\psi_{s}(r)=k(s) \int_{0}^{r} e_{s}(t) \mathrm{d} t \\
\chi_{s}(r)=\varphi_{s}(r)+\psi_{s}(r)+k(s)(b+c) r
\end{gathered}
$$
\]

and the iterations

$$
\begin{align*}
& x_{0}=x^{0} \\
& x_{n+1}(\lambda)=x_{n}(\lambda)-A\left(x_{n}(\lambda), \lambda\right)^{-1}\left(F\left(x_{n}(\lambda), \lambda\right)+G\left(x_{n}(\lambda), \lambda\right)\right), \quad n \geq 0 \tag{5}
\end{align*}
$$

and

$$
\begin{align*}
& y_{0} \in U\left(x^{0}, R\right) \\
& y_{n+1}(\lambda)=y_{n}(\lambda)-A\left(y_{n}(\lambda), \lambda\right)^{-1}\left(F\left(y_{n}(\lambda), \lambda\right)+G\left(y_{n}(\lambda), \lambda\right)\right), \quad n \geq 0 \tag{6}
\end{align*}
$$

By $x_{0}, y_{0}, x^{0}$, we mean $x_{0}(\lambda), y_{0}(\lambda), x^{0}(\lambda)$, that is, e.g., $x_{0}$ depends on the $\lambda$ used in (5). We use the iterations given by (5) and (6) to approximate a solution $x^{*}(\lambda)$ of the equation

$$
\begin{equation*}
F(x, \lambda)+G(x, \lambda)=0 \quad \text { in } \quad U\left(x^{0}, R\right) \tag{7}
\end{equation*}
$$

under the hypotheses (1)-(4).
Our assumptions (1)-(4) generalize the ones made by Chen-Y a mamoto (for $F(x, \lambda)=F(x)$ and $G(x, \lambda)=G(x))$ [3], Z abrejko-N g uen [12], Yamamoto [11] and Potra-Pták (in [7] for $G=0$ ). Moreover, several
authors have treated the case when $G=0$ provided that $k_{s}$ and $k_{1}$ are constants (or not) [1], [2], [5], [6], [8], [9], [10]. Note that conditions of the form (3) are variants of the usual Lipschitz condition with the constant depending on the radius of the ball. Such conditions have also been considered in [12] and [3], as well as in [1], [4], [6], [7] and [9]. Several applications and justifications for the use of conditions like (3) can also be found in the above references. One can also claim that for certain choices of the functions $w_{s}, v_{s}$ and the parameter $c$ the right-hand side of (3) does not depend on the radius of the ball. Choose for example $w_{s}$ such that for all $x, y \in U\left(x^{0}, r\right)$ and $t \in[0,1]$, $w_{s}\left(\left\|x-x^{0}\right\|+t\|y-x\|\right)=v_{s}\left(\left\|x-x^{0}\right\|\right)+t q\|x-y\|$ for some constant $q$ (independent of $r$ ) with $q \in(0,1)$, and $c=0$ in (3). Then the right-hand side of (3) is independent of the radius of the ball and constitutes the usual Lipschitz condition for the operator $F^{\prime}(x, \lambda)$.

We provide sufficient conditions for the convergence of iterations (5) and (6) to a locally unique solution $x^{*}(\lambda)$ of equation (7) as well as several error bounds on the distances $\left\|x_{n+1}(\lambda)-x_{n}(\lambda)\right\|,\left\|x_{n}(\lambda)-x^{*}(\lambda)\right\|,\left\|y_{n+1}(\lambda)-y_{n}(\lambda)\right\|$ and $\left\|y_{n}(\lambda)-x^{*}(\lambda)\right\|$.

## II. Convergence results

Let us define the numerical sequence

$$
\begin{equation*}
r_{0} \in[0, R], \quad r_{n+1, s}=r_{n+1}=r_{n}+\frac{u_{s}\left(r_{n}\right)}{\bar{w}_{s}\left(r_{n}\right)}, \quad n \geq 0 \tag{8}
\end{equation*}
$$

where $u_{s}(r)=x_{s}(r)-\alpha^{*}$ and $w_{s}(r)=1-k(s)\left(v_{s}(r)+b\right), \bar{w}_{s}(r)=k(s) w_{s}(r)$. Here $\alpha_{s}^{*}=\alpha^{*}$ denotes the minimal value of $\chi_{s}(r)$ in $[0, R]$. Let us denote the minimal point by $r_{s}^{*}=r^{*}$. If $\chi_{s}(R) \leq 0$, then $\psi_{s}(r)$ has a unique zero $t_{s}^{*}=t^{*}$ in $\left(0, r^{*}\right]$, since $\chi_{s}(r)$ is strictly convex. Moreover, it is a simple calculus to show as in Lemma 1 in [3, p. 40] that the sequence $\left\{r_{n}\right\}, k \geq 0$ is strictly monotonically increasing and converges to the unique zero of $u_{s}(r)$ in $\left[0, r^{*}\right]$, $r^{*}$ for any $r_{0} \in\left[0, r^{*}\right)$.

Furthermore, let us define the sets

$$
\begin{gathered}
\tilde{U}_{s}=\tilde{U}=\left\{\begin{array}{lll}
U\left(x^{0}, R\right), & \text { if } \quad \chi_{s}(R)<0 \quad \text { or } \quad \chi_{s}(R)=0 \quad \text { and } \quad t^{*}=R \\
U^{0}\left(x^{0}, R\right), & \text { if } \quad \chi_{s}(R)=0 \quad \text { and } \quad t^{*}<R,
\end{array}\right. \\
\Omega_{s}=\Omega=\bigcup_{r \in\left[0, r^{*}\right)}\left\{y \in U\left(x^{0}, r\right) /\left\|A(y, \lambda)^{-1}(F(y, \lambda)+G(y, \lambda))\right\| \leq \frac{u_{s}(r)}{\bar{w}_{s}(r)}\right\}
\end{gathered}
$$

for $y \in \Omega$,

$$
\begin{array}{r}
R_{y, s}=R_{y}=\left\{r \in\left[0, r^{*}\right) /\left\|A(y, \lambda)^{-1}(F(y, \lambda)+G(y, \lambda))\right\| \leq \frac{u_{s}(r)}{\bar{w}_{s}(r)}\right. \\
\\
\left.\left\|y-x^{0}\right\| \leq r\right\}
\end{array}
$$

and the numerical sequence $\left\{\rho_{n}\right\}, n \geq 0$, by

$$
\begin{equation*}
\rho_{0}=0, \quad \rho_{n+1, s}=\rho_{n+1}=\rho_{n}+\frac{u_{s}\left(\rho_{n}\right)}{\bar{w}_{s}\left(\rho_{0}\right)}, \quad n \geq 0 \tag{9}
\end{equation*}
$$

We can now formulate the main result:
Theorem 1. Suppose that $\chi_{s}(R) \leq 0$.
Then
(a) the equation (7) has a solution $x^{*}(\lambda)$ in $U\left(x^{0}, t^{*}\right)$, which is unique in $\tilde{U}$;
(b) for any $y_{0} \in \Omega$, the iterations (5) and (6) are well defined for all $n \geq 0$, remain in $U^{0}\left(x^{0}, r^{*}\right)$ and satisfy the estimates

$$
\begin{align*}
\left\|y_{n+1}(\lambda)-y_{n}(\lambda)\right\| & \leq r_{n+1}-r_{n}, & & n \geq 0  \tag{10}\\
\left\|y_{n}(\lambda)-x^{*}(\lambda)\right\| & \leq r^{*}-r_{n}, & & n \geq 0  \tag{11}\\
\left\|x_{n+1}(\lambda)-x_{n}(\lambda)\right\| & \leq \rho_{n+1}-\rho_{n}, & & n \geq 0 \tag{12}
\end{align*}
$$

and

$$
\begin{equation*}
\left\|x_{n}(\lambda)-x^{*}(\lambda)\right\| \leq r^{*}-\rho_{n}, \quad n \geq 0 \tag{13}
\end{equation*}
$$

provided that $r_{0} \in R_{y_{0}}$.
Proof. We will only show that the estimate (10) is true for all $n \geq 0$. The estimates (11)-(13) will then follow immediately (note that $x^{0} \in \Omega$ ).

For $n=0$ we must show $\left\|y_{1}(\lambda)-y_{0}\right\| \leq r_{1}-r_{0}$. Let $r_{0} \in R_{y_{0}}$ for $y_{0} \in \Omega$, then

$$
\left\|y_{0}-x^{0}\right\| \leq r_{0}<r^{*}
$$

and

$$
\left\|y_{1}(\lambda)-y_{0}\right\|=\left\|A\left(y_{0}, \lambda\right)^{-1}\left(F\left(y_{0}, \lambda\right)+G\left(y_{0}, \lambda\right)\right)\right\| \leq \frac{u_{s}\left(r_{0}\right)}{\bar{w}_{s}\left(r_{0}\right)}=r_{1}-r_{0}
$$

Hence

$$
\left\|y_{1}(\lambda)-x^{0}\right\| \leq r_{1}
$$

We will show that $\left\|y_{n}(\lambda)-x^{0}\right\| \leq r_{n}, n \geq 0$, which we showed to be true above for $n=0$. Let

$$
\left\|y_{n}(\lambda)-y_{n-1}(\lambda)\right\| \leq r_{n}-r_{n-1} \quad \text { and } \quad\left\|y_{n}-x^{0}\right\| \leq r_{n}
$$

hold for all $n \leq k$.
The inverse of the linear operator $A(x, \lambda), x \in U\left(x^{0}, R\right), \lambda \in U\left(\lambda_{0}, S\right)$ exists if the right-hand side of

$$
\begin{aligned}
& A(x, \lambda)^{-1} A\left(x^{0}, \lambda_{0}\right) \\
& \quad=\left[I+A\left(x^{0}, \lambda\right)^{-1}\left(A(x, \lambda)-A\left(x^{0}, \lambda\right)\right)\right]^{-1} A\left(x^{0}, \lambda\right)^{-1} A\left(x^{0}, \lambda_{0}\right)
\end{aligned}
$$

exists. But, $A\left(x^{0}, \lambda\right)^{-1}$ exists, since

$$
A\left(x^{0}, \lambda\right)^{-1} A\left(x^{0}, \lambda_{0}\right)=\left[I+A\left(x^{0}, \lambda_{0}\right)^{-1}\left(A\left(x^{0}, \lambda\right)-A\left(x^{0}, \lambda_{0}\right)\right)\right]^{-1}
$$

exists. Moreover, by (1)-(8) we get that $A(x, \lambda)^{-1}$ exists,

$$
\left\|A\left(y_{k}(\lambda), \lambda\right)^{-1} A\left(x^{0}, \lambda_{0}\right)\right\| \leq k(s) w_{s}\left(r_{k}\right)^{-1}
$$

and

$$
\begin{aligned}
& \left\|y_{k+1}(\lambda)-y_{k}(\lambda)\right\|=\left\|A\left(y_{k}(\lambda), \lambda\right)^{-1}\left(F\left(y_{k}(\lambda), \lambda\right)+G\left(y_{k}(\lambda), \lambda\right)\right)\right\| \\
\leq & \left\|A\left(y_{k}(\lambda), \lambda\right)^{-1} A\left(x^{0}, \lambda_{0}\right)\right\| \| A\left(x^{0}, \lambda_{0}\right)^{-1}\left\{F\left(y_{k}(\lambda), \lambda\right)+G\left(y_{k}(\lambda), \lambda\right)\right. \\
& \left.-A\left(y_{k-1}(\lambda), \lambda\right)\left(y_{k}(\lambda)-y_{k-1}(\lambda)\right)-F\left(y_{k-1}(\lambda), \lambda\right)-G\left(y_{k-1}(\lambda), \lambda\right)\right\} \| \\
\leq & k(s) w_{s}\left(r_{k}\right)^{-1}\left\{\int_{0}^{1} \| A\left(x^{0}, \lambda_{0}\right)^{-1}\left(F^{\prime}\left(y_{k-1}(\lambda)+t\left(y_{k}(\lambda)-y_{k-1}(\lambda)\right)\right)\right.\right. \\
& \left.-A\left(y_{n-1}(\lambda), \lambda\right)\right)\left\|\left\|y_{k}(\lambda)-y_{k-1}(\lambda)\right\| \mathrm{d} t\right. \\
& \left.+\left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left(G\left(y_{k}(\lambda), \lambda\right)-G\left(y_{k-1}(\lambda), \lambda\right)\right)\right\|\right\} \leq
\end{aligned}
$$

## IOANNIS K. ARGYROS

(As in [3, p. 42 relation (13)], and [12, Proposition 1], we get)

$$
\begin{aligned}
& \leq k(s) w_{s}\left(r_{k}\right)^{-1}\left\{\int _ { 0 } ^ { 1 } \left(w_{s}\left(\left\|y_{k-1}(\lambda)-x^{0}\right\|+t\left\|y_{k}(\lambda)-y_{k-1}(\lambda)\right\|\right)\right.\right. \\
& \left.\quad-v_{s}\left(\left\|y_{k-1}(\lambda)-x^{0}\right\|\right)\right)\left\|y_{k}(\lambda)-y_{k-1}(\lambda)\right\| \mathrm{d} t \\
& \left.\quad+c\left\|y_{k-1}(\lambda)-y_{k}(\lambda)\right\|+\int_{r_{k-1}}^{r_{k}} e_{s}(t) \mathrm{d} t\right\} \\
& \leq \\
& \leq \bar{w}_{s}\left(r_{k}\right)^{-1}\left(u_{s}\left(r_{k}\right)-u_{s}\left(r_{k-1}\right)+\bar{w}_{s}\left(r_{k-1}\right)\left(r_{k}-r_{k-1}\right)\right) \\
& = \\
& \bar{w}_{s}\left(r_{k}\right)^{-1} u_{s}\left(r_{k}\right)=r_{k+1}-r_{k}
\end{aligned}
$$

Moreover, we have

$$
\left\|y_{k+1}(\lambda)-x^{0}\right\| \leq\left\|y_{k+1}(\lambda)-y_{k}(\lambda)\right\|+\left\|y_{k}(\lambda)-x^{0}\right\| \leq r_{k+1}
$$

That is, (10) is true for all $n \geq 0$ and $y_{n}(\lambda) \in U^{0}\left(x^{0}, r_{n}\right) \subset U^{0}\left(x^{0}, r^{*}\right)$. Hence, the sequence $\left\{y_{n}(\lambda)\right\}$ is a Cauchy sequence in $U\left(x^{0}, r^{*}\right)$ and converges to a solution $x^{*}(\lambda) \in U^{0}\left(x^{0}, r^{*}\right)$ of equation (7).

The proof of the theorem will be complete if we show that $x^{*}(\lambda)$ is the unique solution of equation (7) in $\tilde{U}$. Let $y^{*}(\lambda)$ be any solution in $\tilde{U}$. Then we have

$$
\begin{aligned}
& \left\|y^{*}(\lambda)-x^{0}\right\|-a_{s} \leq\left\|y^{*}(\lambda)-x_{1}(\lambda)\right\| \\
& \quad \leq \int_{0}^{1} w_{s}\left(t\left\|y^{*}(\lambda)-x^{0}\right\|+c\right)\left\|y^{*}(\lambda)-x^{0}\right\| \mathrm{d} t+\int_{0}^{\left\|y^{*}(\lambda)-x^{0}\right\|} e_{s}(t) \mathrm{d} t
\end{aligned}
$$

The above inequality shows $\chi_{s}\left(\left\|y^{*}(\lambda)-x^{0}\right\|\right) \geq 0$. Hence, $\left\|y^{*}(\lambda)-x^{0}\right\| \leq t^{*}$.
We can show

$$
\begin{equation*}
\left\|y^{*}(\lambda)-x_{n}(\lambda)\right\| \leq r^{*}-\rho_{n}, \quad n \geq 0 \tag{14}
\end{equation*}
$$

For $n=0$, the above inequality is trivially true. Suppose that it is true for all
$n \leq k$, then

$$
\begin{aligned}
& \left\|y^{*}(\lambda)-x_{k+1}(\lambda)\right\|=\| y^{*}(\lambda)-x_{k}(\lambda)+A\left(x_{k}(\lambda), \lambda\right)^{-1}\left(F\left(x_{k}(\lambda), \lambda\right)\right. \\
& \left.\quad+G\left(x_{k}(\lambda), \lambda\right)\right)-A\left(x_{k}(\lambda), \lambda\right)^{-1}\left(F\left(y^{*}(\lambda), \lambda\right)+G\left(y^{*}(\lambda), \lambda\right)\right) \| \\
& \leq \\
& \quad k(s) w_{s}\left(\rho_{k}\right)^{-1}\left\{\int_{0}^{1} \| A\left(x^{0}, \lambda_{0}\right)^{-1} F^{\prime}\left(x_{k}(\lambda)+t\left(y^{*}(\lambda)-x_{k}(\lambda)\right)\right.\right. \\
& \left.\quad-A\left(x_{k}(\lambda), \lambda\right)\right)\left\|\left\|y^{*}(\lambda)-x_{k}(\lambda)\right\| \mathrm{d} t\right. \\
& \left.\quad+\left\|A\left(x^{0}, \lambda_{0}\right)^{-1}\left(G\left(y^{*}(\lambda), \lambda\right)-G\left(x_{k}(\lambda), \lambda\right)\right)\right\|\right\} \\
& \leq \\
& =k(s) w_{s}\left(\rho_{k}\right)^{-1}\left\{\int_{\rho_{k}}^{r^{*}}\left(w_{s}(t)+e_{s}(t)\right) \mathrm{d} t+(b+c-1)\left(r^{*}-\rho_{k}\right)+w_{s}\left(\rho_{k}\right)\left(r^{*}-\rho_{k}\right)\right\} \\
& = \\
& \bar{w}_{s}\left(\rho_{k}\right)^{-1}\left(\chi_{s}\left(r^{*}\right)-\chi_{s}\left(\rho_{k}\right)\right)+r^{*}-\rho_{k}=r^{*}-\rho_{k+1} .
\end{aligned}
$$

Hence, (14) is true for all $n \geq 0$. By taking the limit in (14) as $n \rightarrow \infty$ we get $x^{*}(\lambda)=y^{*}(\lambda)$.

That completes the proof of the theorem.
We will now generalize the function $\chi_{s}(r)$. Let $y \in \Omega$ and choose $r_{y} \in R_{y}$ (fixed) and set

$$
\begin{gathered}
a_{s, y}=a_{y}=k(s)\left\|A(y(\lambda), \lambda)^{-1}(F(y(\lambda), \lambda)+G(y(\lambda), \lambda))\right\|, \\
d_{s, y}=d_{y}= \begin{cases}k(s), & \text { if } y=x^{0} \quad \text { and } r_{y}=0 \\
\bar{w}_{s}\left(r_{y}\right)^{-1}, & \text { otherwise }\end{cases}
\end{gathered}
$$

and

$$
\chi_{s, y}(r)=\chi_{y}(r)=a_{y}+d_{y}\left[k(y)\left(\int_{0}^{r}\left(w_{s}\left(r_{y}+t\right)+e_{s}\left(r_{y}+t\right)\right) \mathrm{d} t+b+c\right)-r\right] .
$$

Moreover, let us define the numerical iteration $\left\{q_{n}\right\}, n \geq 0$, by

$$
q_{n+1, s}=q_{n+1}=q_{n}+\frac{\chi_{y}\left(q_{n}\right)}{d_{y} \bar{w}_{s}\left(r_{y}+q_{n}\right)}, \quad q_{0}=0, \quad y_{0}=y, \quad n \geq 0
$$

Then exactly as in Proposition 1 and Theorem 2 in [3, p. 45] we can show

Theorem 2. Suppose that the hypotheses of Theorem 1 are true.
Then
(a) the ball $U\left(x^{0}, \frac{\left|\alpha^{*}\right|}{2-b}\right) \subset \Omega$;
(b) the equation $\chi_{y}(r)$ has a unique zero $q^{*}=q_{s}^{*}$ in $\left[0, r^{*}-r_{y}\right]$ and $\chi_{y}\left(r^{*}-r_{y}\right) \leq 0$.
(c) Moreover, the following estimates are true

$$
\left\|y_{n+1}(\lambda)-y_{n}(\lambda)\right\| \leq q_{n+1}-q_{n}, \quad n \geq 0
$$

and

$$
\left\|y_{n}(\lambda)-x^{*}(\lambda)\right\| \leq q^{*}-q_{n} \leq r^{*}-r_{y}, \quad n \geq 0
$$

Rall in [8] and Rheinboldt in [10] showed convergence of (5) to $x^{*}(\lambda)$ in a closed ball centered at $x^{*}$ when $G=0, F(x, \lambda)=F(x)$ and $v_{s}, \bar{w}$, are constants if $F^{\prime}\left(x^{*}\right)^{-1}$ exists.

## REFERENCES

[1] ARGYROS, I. K: Newton-like methods under mild differentiability conditions with error analysis, Bull. Austral. Math. Soc. 37 (1987), 131-147.
[2] BALAZS, M—GOLDNER, G.: On the method of the cord and on a modification of it for the solution of nonlinear operator equations, Stud. Cerc. Mat. 20 (1968), 981-990.
[3] CHEN, X.-YAMAMOTO, T.: Convergence domains of certain iterative methods for solving nonlinear equations, Numer. Funct. Anal. Optim. 10 (1989), 37-48.
[4] DENNIS, J. E.: Toward a unified convergence theory for Newton-like methods. In: Nonlinear Functional Analysis and Applications (L. B. Rall, ed.), Academic Press, New York, 1971, pp. 425-472.
[5] KANTOROVICH, L. V.-AKILOV, G. P.: Functional Analysis in Normed Spaces, Pergamon Press, New York, 1964.
[6] KRASNOLESKII, M. A.-VAINIKKO, G. M.-ZABREJKO, P. P. et al.: The Approximate Solution of Operator Equations. (Russian), Nauka, Möscow, 1969.
[7] POTRA, F. A.-PTÁK, V.: Sharp error bounds for Newton's process, Numer. Math. 34 (1980), 63-72.
[8] RALL, L. B.: A note on the convergence theory of Newton's method, SIAM J. Numer. Anal. 1 (1974), 34-36.
[9] RHEINBOLDT, W. C.: A unified convergence theory for a class of iterative processes, SIAM J. Numer. Anal. 5 (1968), 42-63.
[10] RHEINBOLDT, W. C: An adaptive continuation process for solving systems of nonlinear equations. In: Mathematical Models and Numerical Methods. (A. N. Tikhonov and others, eds.) Banach Center Publications 3, PWN-Polish Scientific Publishers, Warszawa, 1978, pp. 129-142.

## ON AN APPLICATION OF A NEWTON-LIKE METHOD...

[11] YAMAMOTO, T.: A convergence theorem for Newton-like methods in Banach spaces, Numer. Math. 51 (1987), 545-557.
[12] ZABREJKO, P. P.-NGUEN, D. F: The majorant method in the theory of Newton-Kantorovich approximations and the Pták error estimates, Numer. Funct. Anal. Optim. 9 (1987) 671-684.
[13] ZINCENKO, A. I.: Some approximate methods of solving equations with nondifferentiable operators. (Ukrainian), Dopovīdī Akad. Nauk Ukraïn. RSR Ser. A (1963), 156-161.

Received March 19, 1990
Revised February 4, 1991

Cameron University
Department of Mathematics
Lawton, OK 73505-6377
U.S.A.


[^0]:    AMS Subject Classification (1991): Primary 47D15, 47H17. Secondary 65J15, 65B05. Key words: Implicit function, Banach space.

